obooo0oDb:20110 70 40

0CcOO0UUoooooooo@mro)Uoo

O

p.3,300

1 1
/10001 + /10000 _ (0.100005 + 0.100000) x 103
(1.00000) x 10=*  1.00000
(2.00005) x 102 ~ 2.00005
= 4.99988 x 1073

v10001 — v10000 =

07172

1 1
v10001 — v10000 = =
v/10001 + /10000 (0.100005 + 0.100000) x 103

(1.00000) x 10° _ 1.00000
(2.00005) x 102~ 2.00005
= 4.99988 x 1073

x 1072

p.16,0 2.20, 50
O
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p-17, dvector O O
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/* al[ilOali+jl 000000 =/

/* alilOaljlO000000 =/

p.51, 00
LUx = Pb LUx = Pb
00000000o0obOO00 ADLUODOODO LOovooooog 00000000oO0DDoO00 PADO LUODOOD LOUOOOOOO
b1 bl
by by
p.51, 0000 b= Pb=
bn bn
p.52, 0000 Ly=1b Ly =Pb
pbh3000000 | /*Ly=bOOO */ /¥ Ly=PrbO0O0O */
00200
p.57, 200
1 1 1 1
1 1 rorl, 1 =—-4+e—1—-pon—+e—-1—-=¢c—-1~ -1
2o=1, z;=-+4e—-1—-—23=-4+e—-1—-=-=¢—-1~-1 € € € €




u U

p.57,800 l—ex1,14e?-2e~100002y =1,y =1—-2,=00000000]1-ex1,1+?-2e~10000a~1l, 21 =1—-2,,00000000

p.65, O OO OO | #include <math.h> e
340 300000




